A £ 0l & AF & S

Al A

SA FUS
M B2 (FU=X )
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Fe=X 82,606, 103 74,381,380 8,224,723
= 49,061,266
[ 3,017,349
= 6,010,424
Ea 24,403,765
= 113,299
AH2IBHI(FLU=X) 66,014 71,890 Ab,876
Jl=23H| 66,014 71,890 Nb,876
Jl=23H] 61,640 66,976 A\b,336
201 fet=23y| 45,470 48,328 A2,858
01 AtR2te|HI 45,158 48,016 2,858
OJIEZH| 32,012
SEEL 8,000 %341+ 12B 312 8,978
=ELICEEE
8,000 34! x 123 2 +90% 519
—S2I(22E)
8,000 <341 * 122 x4 x90% 1,037
-2et-EH| 240,000 x33EH *90% 7,128
~ZEAMEI=XIR 2R
60,0002 x116&~1H 6,960
—F20oF x| 60,0002+ 116+ 1% 6,960
-2 AH 22(HEH) 60,0002 x82*18 480
OA1&EHl |AI2clt| 8,622
—S AL 550,000 *5CH*90% 2,475
===p 450,000 *15CH*90% 6,075
—HA 80,0002 *1CH*90% 72
O3JI8E)| Xz
37,0003 x50 = 122 2,220
O&=D| Xz 48,0002 x40 =123 2,304
2 35234l 312 312 0
ORdYs= 13,0002 <20« 122 312
202 048l 16,170 18,648 N2,478
01 2L AL 16,170 18,648 N2,478
OO 16,170
—ZHLH 160,000 352 * 12 +18. 5% 12,432
-2 200,000 x35H *53. 4% 3,738
HR=2H| Let 4,374 4,914 AB40
203 HR=H| 4,374 4,914 2540
M RFAZSLRFAI 4,374 4,914 A540
ORAN2ELRFTHI(OIEN)
405,000 * 12& *00% 4,374
NASE oty Xz 21,925,449 18,578,298 3,347,151
= 14,523,029
s 767,956




FA F2US
M HASS MO X
tR: S8 AIEISXYER =8 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,010,147
o 4,561,018
= 63,29
S8 AlEXNgR = 2,741,970 2,850,660 108,690
[ 613,538
= 241,440
o 1,886,992
FU=AKNE G2 =8 1,620 1,620
203 HR=AY] 1,620 1,620
03 A= PR S| 1,620 1,620
OFU=SAXNE L= 1,620,000& 1,620
HANHSSAIE A2 2 327,605 233,028 94,577
101 e124d| 61,854 59,436 2,418
M ORNZZ2NSE S 61,854 59,436 2,418
OSEMEIER 2 JI2HHI(EA) e18Y 61,854
-JlEs 78,8803 x2H 250 39,440
“AHEE=E S 51,905,000& *10% 5,191
—El g 57,096,000&/12& 4,758
-ReRd 78,8803 x2& 152 2,367
=g 78,8803 x2& x52& 8,204
-AXt=g 78,8803 x2& * 12 1,894
201 er23| 189,611 151,792 37,819
01 AtR2t2|HI 55,293 27,926 27,367
OSEAMa =2 2E+=EH|
6,200,000 6,200
ORHa E4+E
70,0002 *10E +22] x90% 1,260
O&8=J| itz 1,795
-EI(4) 23,330 +50H+ 122 1,400
-H=D1(0H) 32,9003 *1CH* 122 3%
Ogde=xg 170,000& » 122 2,040
Ost&al 2e83 8,759
—2letd LEH 2L
13,2003 * 1671 A+ 102) 2,112
-HgfdEssHE A2
8,000& 8 A+ 123 768
-EAENH P 9,600 * 167 2+8F 1,229
I AIEZRIH 7Y
13,0003 *30H A +7 2,730
—2HI MEH 2
8,000& »24J1 2=+ 102 1,920
Ostaal Hidl 2tz
14,9003 »260H* 123 4,649




FA F2US
33 MAS85 dgo8 XA
thel: S8X0 AFSXER FH (St &)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
O371887| Xtz
35,9002« 1CH~ 12 431
odJ|etd2e|idz
1,100,000 122 13,200
OA ot = 380,000 * 122 4,560
Osietdae|tid=
165,000 *1CH* 122 1,980
ORIFHIAIAR 22|
347,500 x 122 4,170
OCCTV =Xl 2|tz
12,7003 »410H= 123 6,249
2 35244l 134,318 123,866 10,452
Od= =l 3,23436,106.7m 19,750
O™IIe3(Leh 71,08
== 7,22034%357 .34 123 30,960
-0iS&(6-88) 119.3& %38, 390. 6 1kwh*3Z 13,740
-5,t28(3-5,9-102)
88.9& *16,398. 2kwh+5E 7,289
-HASE(11-28) 119.53%39,948 . 53kwh*4 19,096
OIS (40H) 9,505
-MEg(AS) 81.6& *14,264. 70kwh*4 4,6%
S OAHE)
60.22 *10, 066. 45kwh+8E 4,849
OA NS 2] 50,0002 *12] 50
Odolr=ER= 1,200,000 122 14,400
OZgAIE RXIH| 120,000 1574 1,800
OAIZZHl |XId| 3,500
&0 & SAE| 500,000 500
-JI A€ 1,500,000 1,500
-y 2 SeE 500,000& 500
-] S| 1,000,000 1,000
OsZINIEA= 200,000 *1CH*12] 200
Og=& =24l 600,000 *2IH 2~ 1,200
OdeI| bl 100,000 *42CH 4,200
OClHA & =3 Hlodd Stz 1,678
-OIHY HME3ld MEZ(VUAQUE)
51,8103~ 1CH* 122 622
-SESEE HIgE Stz
11,0003 =804~ 123 1,056
Ox=%d & U=sHd I EY
2,600,000& *22] 5,200
ONM==x A 1,600
-Ma=x HA(100E)
550,000 22/ 170 2 1,100




S FOI=ND
Nm: HASE MO K2
ciol: EEX0l MEI=IeT (crsp ma)
SA - B BRA(SH) - HRA - of v G o HIDE2
HAE BA(E)
250,000 *23] * 10 & 500
O+BANAAE 150
EUSECEN 60,000 * 1 %13 60
=SlU=+2 90,000& %1 2+13 0
206 =6l 600 1,000 2400
01 M=l 600 1,000 A400
OZBANBI=XIB FETY HEN L &5
PN/ 600,000 600
301 LPENF 15,840 13,200 2,640
14 JIEt2 43 15,840 13,200 2,640
OZEAS=TT DRAN 42
33,0003 *48A12H+ 103 15,840
401 AIEHIZL 200 59,700 7,600 52,100
01 Al&HI 59,700 7,600 52,100
OZENSI=T 2 2BEALE HIIOHE
9| 3,900,000 *13] 3,900
OUHTHZBNSI =TT 2ZAILE BT
JlerEE g 8,600,0002113] 8,600
OwmaENaINI ma =0y o
2 AlS 45,000,000 14 45,000
OBANSI=TE 32 SN W] &3
S A 2,200,000& 2,200
Hel2S=TINE 2SN 4,800 4,800 0
& 1,920
i 2,880
307 gI2tol ™ 4,800 4,800 0
= 1,920
= 2,880
10 MG SXAIEHE2ZHIEX 4,800 4,800 0
OMel2a=RAd 28X
4,800,000 4,800
= 1,920
= 2,880
el S DAIEEATH WA X2 5,000 5,000
307 QI2Hol M 5,040 5,040
10 AlSISEXAEHE2EHIEX 5,040 5,040
ONASHAUDALZAR HSHAH] X
140,000 *3F + 122 5,040
MIIEXIAE SAR HLIMEHI(SRIECIE) X 20,000 26,000 6,000
301 LB Z 20,000 26,000 6,000
02 MBI 2EHE S (FHUAHNS, NSTHA) 20,000 0 20,000
ONBIZTIAEZ AR XS HEHI (2T EO!
€) X& 200,0002 x100F *13] 20,000
MIISXIAESALA R 231,120 235,930 24,810




FA F2US
M HASS MO X
tR: S8 AIEISXYER =8 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 92,448
s 138,672
307 lztol & 231,120 235,930 24,810
= 92,448
= 138,672
11 AMEISXAIEEXS 231,120 235,930 4,810
OARISXAIZS AL HReE
231,120,000 231,120
=S 92,448
s 138,672
MNEISXAE BER2 16,380 17,000 AB20
301 22N = 16,380 17,000 AB20
02 MBI 2HHSFHS(HAANS, KLHE) 16,380 0 16,380
OAt2IZTIAIE EERAE
18,0002 x455E 23 16,380
A 2ZEoN2SE 63,831 62,990 841
201 er2 3| 7,290 8,100 2810
01 AtR2telHl 7,290 8,100 A810
OZMZXAMNSEHEAM 222
1,458,0002 %52 7,290
307 @I2t01 & 56,541 54,890 1,651
10 Al2ISTIAIEEE2HIEX 53,841 51,890 1,951
OXEZNFAR 2SS 2AN 2SHIXA
53,841,000 104 2= 53,841
11 AMEISXAEEE 2,700 3,000 A300
OXHEZXNAAR 2HE AN A2AE
2,700,000& %12 2,700
ARISAESR K& 11,966 14,400 N2,434
201 ger=3| 11,966 14,400 N2,434
02 S3=gHl 11,966 14,400 N2,434
O=lge ssS5UE AIESR=s
400,000 123 4,800
O#i=es e 18 SHAIAH 0|2(2BRI)
597,160& 122 7,166
ANSISRHME K (HEAY) 709,740 637,080 72,660
301 LEtE N = 709,740 637,080 72,660
10 MSRREENS 709,740 637,080 72,660
OMIERRE S=(HE)
900,000 x60H 122 648,000
OMIERLY LISHI(HE)
309, 000& *60H 18,540
OMI =L nEHI(HE)
60,0002 60 * 122 43,200
MBS S22 96,960 96,960 0
301 EetE2 N = 96,960 96,960




A FRISXID
B HASE MBOIE K@
tR: S8 AIEISXYER =8 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
10 A ESRRJIELZ 96,960 96,960 0
OABl=2Re EA
7,000&x60Z * 192 * 123 95,760
OXHoll 24| 1,200,000& 1,200
XSRS AISIMUIA SEXA (KD AR MHIASER]) 871,515 854,400 17,115
s 610,061
& 130,727
i 130,727
201 L2 | 8,000 7,860 140
s 5,600
& 1,200
i 1,200
01 Ar22eltl 8,000 7,860 140
ONATIBE MHIA EXAIY B2l
8,000,000& 8,000
s 5,600
& 1,200
= 1,200
202 04dl 515 800 A285
s 361
& 77
= 77
01 =WO4bI 515 800 A285
OXIG A2l A EXAIY S XK=
515,000& 515
s 361
= 7
= 77
307 212+01™ 863,000 845,740 17,260
s 604,100
= 129,450
= 129,450
05 QIZtRES 863,000 845,740 17,260
OXISMSIMEIA EXAY GIES
863,000,000 863,000
s 604,100
= 129,450
o 129,450
KERE28 AlSAHIA EXAIG (HE0ISAHZRRA) 4,967 10,428 Ab,461
s 3,477
= 745
= 745
307 2I2+01A 4,967 10,428 Ab,461
s 3,477




FA F2US
B HASE MBOIE K@
ool EEX0 ABSXYR =X (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 745
s 745
05 2ItRIE = 4,967 10,428 N5, 461
OFEISAHLXEAMNY HE=S
4,967,000& 4,967
= 3.477
== 745
= 745
Mol 2&= 1,160 4,760 A3,600
201 Ler23| 360 360 0
2 s5=34l 360 360 0
ONeli+s g2 SME
30,0002 x 12 360
302 OI==H o2 &= 800 800
02 2t S HESEa=2 800 800
ONci2a=2 20,0002 +40 800
Mol S XIZAAS 14,000 14,000 0
= 14,000
301 EtE NS 14,000 14,000 0
== 14,000
02 A2 A LGS (FHAAHS, NLWE) 14,000 14,000 0
O=gsetl uaioeg =5 ¢
14,000,000 14,000
= 14,000
HALEBEE AFA 96,000 180,000 284,000
301 EtE NS 96,000 180,000 284,000
02 ARI2E XSG (FHAAHS, NSWE) 96,000 0 96,000
ONASE 2HULHE Y H)|QALH
= K& 8,000,000& * 12& 96,000
A Sl & AR FH 16,200 16,200
307 @I2t01 & 16,200 16,200
012z € 2/=H] 16,200 16,200
Odelit =] 100,000 »12& 1,200
OAAIZ X+ HHIBI 1,000,000& * 15 15,000
A=l=XIEelsl 28 X 8,000 8,890 2890
= 1,600
[Ea 6,400
307 el2to| & 8,000 8,890 aNeie
= 1,600
o 6,400
1 AMISXAIEEX 8,000 8,890 A8
OAtal=XIgos 2% X
8,000,000& 8,000
[ 1,600




FA F2US
B HASE MBOIE K@
ool EEX0 ABSXYR =X (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 6,400
AEIFXS & J18A 6,300 7,000 AT700
307 21201 & 6,300 7,000 AT700
11 ARRISXAIEE X 6,300 7,000 AT700
OMEIEXIS & JI84
6,300,000& 12 6,300
ARIEXAIE & EHl2e X3 191,400 164,400 27,000
307 elztol & 161,400 164,400 23,000
10 AlRISIIAIEEE 22X 161,400 164,400 A3,000
O&ld= At2I=XIEelel 24|
84,400,000 *1IH 2 84,400
OdEz =3 23| 77,000
“MEZAREXNE A (M2 Z=FEY
3) 63,000,000 *1JH 4 63,000
LIS JI=2Ewa
14,000,000 * 17 2 14,000
402 2IZtA=01d 30,000 30,000
01 QI XHZ AL E R (K THE) 30,000 30,000
OJI=&EEd3 e+ K&
30,000,000& 30,000
SHASM2ZE2AM =S 37,116 41,240 N4 N24
201 2egh=3| 20,160 22,400 N2,240
01 At2t2lt] 20,160 22,400 A2,240
OS8 NAMBISHEAM 32 2
70,000%*100%*4@ *72h 20,160
301 LEtE N = 3,456 3,840 N384
11 #AIAMHIXIZ S 3,456 3,840 N384
OSHANSA2HE M g4t NE
12,0002 x 1002 *43] *72% 3,456
307 212+01™ 13,500 15,000 21,500
11 AMRISXAEEES 13,500 15,000 21,500
OSHANGAR 2EE AN dUsS7U
9,000,000& %12 9,000
O=218 23tu= 1,125,000 43 4,500
o201z &I 1,350 1,000 350
201 er23| 1,350 1,000 350
01 AtR2t2|HI 1,350 1,000 350
O0HR0IZRSIIAME 28|
1,350,000& 1,350
NaS8EtElls 29 2,500 2,450 50
201 =3 2,500 2,450 50
01 At2t2ltl 2,500 0 2,500
OMeEotdIls T2 2e|89|
2,500,000& 2,500
HHIH "ELEY" dSAGYHEH 29 2,400 2,400 0




FA F2US
M HASS MO X
tR: S8 AIEISXYER =8 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 2,400 2,400
01 At2teltl 900 900
O=s83J| AEgg & RAHl 8
900,000 900
02 S3=gHl 1,500 1,500 0
OXtg =R/l 1,500
—XS XHAl 150,000 150
-288 1,000,000 1,000
-ANEEHRA S 350,000 350
NASE H&oty 17,368,39% 14,004,229 3,274,166
= 13,118,428
s 154,418
== 1,672,324
o 2,360,376
= 62,849
FHSN 2,951,483 2,855,556 95,927
= 2,361,185
== 295,149
= 295,149
301 EtE NS 2,632,937 2,537,010 95,927
= 2,106,349
[ 263,294
Ea 263,294
01 AR 2EHSHS(RNEERTH) 2,632,937 2,537,010 95,927
F= 2,632,937,000& 2,632,937
= 2,106,349
== 263,294
o 263,294
403 X SHMSAH=01H 318,546 318,546 0
= 254,836
s 31,855
s 31,855
02 S 2SOt st =& 2 E AL H] 318,546 318,546 0
O8RS HA 318,546,000 318,546
= 254,836
= 31,855
o 31,855
HASN 12,564,349 9,551,914 3,012,435
= 10,051,479
= 1,256,435
o 1,256,435
301 EtE NS 12,564,349 9,551,914 3,012,435
= 10,061,479




FA F2US
B HASE MBOIE K@
el NASS2 4oy (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,256,435
s 1,256,435
01 A2 HSHS(RNEERTH) 12,564,349 9,551,914 3,012,435
OdAI= 12,564,349,000& 12,564,349
= 10,051,479
< 1,256,435
[Ea 1,256,435
WSS (SHAFXZ) 58,341 33,937 24,404
308 XtXIEMSOIH 58,341 33,937 24,404
08 W=J| 202 & 58,341 33,937 24,404
MES=10 58,340,400& 58,341
RSN =] 83,840 64,815 19,025
= 67,072
= 5,030
= 1,738
301 EtE NS 83,840 64,815 19,025
= 67,072
[ 5,030
T 11,738
01 AR 2EHSHS(RNEXRTH) 83,840 64,815 19,025
Odfiat - ZH=0 83,840,000 83,840
= 67,072
== 5,030
o 11,738
S2S0SEI A= N=ZRE2 539,234 547,818 A8,584
308 XXM SOIA 539,234 547,818 A\8,584
07 AX R FE= 539,234 547,818 N\8,584
O2d=2380SEIHII= NZRE3
539,234,000& 539,234
22 0==At X (Alg2telelb]) 49,302 36,450 12,852
[ 29,682
= 5,936
= 1,484
= 12,200
101 e124d| 43,302 32,610 10,692
= 24,882
= 4,976
o 1,244
= 12,200
03 SR (RINAHA) 222+ 43,302 32,610 10,692
O2 30 cIAF 21| 29,302,000 29,302
= 23,442
< 4,688




FA F2US
B HASE MBOIE K@
el NASS2 4oy (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,172
OSABBOIR2IA Al2tRl%E
150,000 x1&* 122 1,800
= 1,440
= 288
o 72
O2A 2SS0 eIAF 212H| 12,200
-g§2=g 1,480,0002 x1&E 23] 2,960
= 2,960
- &SH| 120,000 x1&* 122 1,440
= 1,440
- HSAHI 140,000& x 12+ 123 1,680
= 1,680
-2 S0l 1,480,000 x1E 22 2,960
= 2,960
eS| 50,0002 x 1 * 12 600
= 600
-JtEsg 80,0002 x 18 » 122 960
= 960
Ot 4| 1,600,000 x1E*12] 1,600
= 1,600
M4 HASFESS 6,000 3,840 2,160
[ 4,800
= 960
Ea 240
04 SR (RIH)22N BEE=RES S 6,000 3,840 2,160
O2zsHcIAN EERRES S
500,000& * 128 6,000
[ 4,800
= 960
o 240
2Z=A 779,614 670,573 109,041
= 623,692
= 77,961
o 77,961
301 EtE N = 779,614 670,573 109,041
= 623,692
< 77,961
s 77,961
01 A2 HSHS(RNEERTH) 779,614 670,573 109,041
OZS=XXZ A 779,614,000 779,614
= 623,692
< 77,961




FA F2US
B HASE MBOIE K@
Bel: NASSo| ety (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 77,961
SMAS A0t XIZ A 5,000 5,000 0
301 EtE NS 5,000 5,000 0
02 ANRI2HHHS(HAAS, NLHE) 5,000 0 5,000
OSMHE 171917 T
1,000,000 %52 5,000
NATEE ASIMEIA SEXA (A2 20| 25,087 22,800 2,487
K& Ar)
= 17,701
< 3,793
= 3,793
307 elztol & 25,287 22,800 2,487
= 17,701
== 3,793
o 3,793
05 2ItRIE= 25,287 22,800 2,487
OJtArE eE222 Al XIZ A
25,287,000 25,287
s 17,701
== 3,793
o 3,793
SHS X5 SEAMHA X 69,062 69,062 0
s 48,343
s 2,072
s 18,647
201 et 3| 34,531 34,531 0
[ 24,171
= 1,036
o 9,324
01 AtR2t2|HI 31,270 31,270 0
OAtell2tel JIEet29d|
4,467,100& 7 &9 31,270
[ 21,889
= 938
Ea 8,443
02 S3=gHl 3,261 3,261 0
OtEXIZ0 Stz
271, 7503 1204 3,261
= 2,282
S B
o 881
301 22N = 34,531 34,531 0
= 24,172
= 1,036




2A:

M HASES Mo
SRl MASE M &)
SA - BB 9(B) - NIRA - BaS ol ke A 2
i 9,323
01 A2 & =02 XTH 34,531 34,531 0
O2l=Hl, H 22X
JIErAEY
4,933,000 7S ™ 34,531
s 24,172
& 1,036
= 9,323
sstaEe 2 9,850 10,488 638
201 Ypr2 6,850 7,483 633
01 AR 22| 2,430 2,700 A270
OSBAZE DT L SXHIM HE S
2,430,000& 2,430
02 2224l 4,420 4,788 A368
(ON =2 INE fll=] 2,680
-XtS XA 80,000& 80
-288 350,000 350
-4l 150,000 *12&*1CH 1,800
-Xt&EH 450,000 450
Oo3zold e 1,740
—KIAIS 2t 72,5003 128 870
-=Al2e 72,5003+ 12 870
301 LetE ™ 3,000 3,000 0
02 A3 2 & o2 (F , KIZTH) 3,000 0 3,000
OSIY=XXAE SEAIL
3,000,000& 3,000
ghAtdl el X 13,200 13,200 0
s 6,600
= 1,320
o 5,280
201 Ler2d 5,900 5,900 0
= 2,950
= 530
= 2,360
01 ArR22ltl 5,900 5,900 0
O3|SUESAIY 29| 4,900,000 4,900
s 2,450
& 490
i 1,960
OSILESAE nesd
1,000,000& 1,000
s 500
& 100
= 400




FA F2US
B HASE MBOIE K@
el NASS2 4oy (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 7,300 7,300 0
= 3,650
== 730
[Ea 2,920
01 AR 2EHSHS(RNEXRTHE) 6,000 6.000 0
O3 U EH AL 6,000,000 6,000
= 3,000
=S 600
s 2,400
11 dALEEIXIE S 1,300 1,300 0
OAtellzlel 29l S(S-Hl, 1stl 8)
1,300,000& 1,300
= 650
== 130
[ 520
SEAtel2telA Q1248 X~ 154,833 101,628 53,205
s 52,092
== 15,628
o 36,464
= 50,649
101 @12A4H| 142,323 91,708 50,615
[ 47,502
S 14,251
= 33,251
= 47,319
03 SRA(RIH )22 U2+ 142,323 91,708 50,615
OSEAtlZ2IAL e124H| 95,004,000 95,004
= 47,502
= 14,251
o 33,251
O3 LLI0I(SE At 22l Ab) 21 2] 47,319
-JlZ2s 3,150,000& «3& +3& 28,350
= 28,350
-g32=g 1,300,000& *3H 3,900
= 3,900
-A2tel=E 150,000& x3&+53 2,250
= 2,250
-2 S0l 1,563,0002 3% 4,689
= 4,689
—wSEAH| 120,0003 3 +33 1,080
= 1,080
-g A ZAH| 140,0003 x3& +32 1,260
= 1,260




FA F2US
B HASE MBOIE K@
Bel: NASSo| ety (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ESE 200,000 x3H+3& 1,800
= 1,800
-2 4| 1,000,000 *3H 3,000
= 3,000
-2t 60,0003 x3&+3& 540
= 540
-Ueressl 50,0002 x3E+3 450
= 450
04 HASREESS 12,510 9,920 2,590
= 4,590
< 1,377
s 3,213
= 3,330
M BRA(RIAHY) 22N BEERE=s S 12,510 9,920 2,590
OSgAtdl2eIAt E88REs S
340,000 x3H 0 9,180
= 4,590
< 1,877
2 3,213
OSIYLICOI(SBAIRIZ2AN 22 RS
S 370,000 x3H+3E 3,330
= 3,330
OSA 0 & 2| AL 30,000 49,000 19,000
201 2= 30,000 40,000 10,000
01 At22t2l] 30,000 2,000 28,000
OL=AF 8le HHAUA R =01 AHIA O
gz & |l 30,000
-oz= 2,200 12943 *1,000& 26,400
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= 21,162
Ea 84,647
1 AMISXAEEXS 211,618 144,367 67,251
OSAHEHHC SSAHMMAHA 2T
211,618,000 211,618
[ 105,809
= 21,162
Ea 84,647
SHEQ - Y SSHEAHAEIA &8D|2 2| 7,470 7,470 0
L=
307 @I2t01 & 7,470 7,470
11 AMRISXAEEES 7,470 7,470
OSsAHAtAMHIA D2 24| X 7,470
-&H|2=H| XI& 6,000 *6950H 4,170
-dle 23l X3 3,300,000 * 174 2 3,300
SSHNRE MM X 5,400 3,600 1,800
307 @I2t01 & 5,400 3,600 1,800
1 AMISXAIEEXE 5,400 3,600 1,800
OXMSIH&HI 150,000& x32+ 123 5,400
CLORSAAE SSUHRAX X2 2,510,940 2,661,338 150,398
== 1,255,470
= 1,255,470
301 EtE NS 2,510,940 2,661,338 150,398
= 1,255,470
= 1,255,470
02 A2 X LGS (FHAAHS, W) 2,510,940 2,661,338 /150,398
Lo AIEES0 NIE
2,510,940,000 2,510,940
= 1,255,470
o 1,255,470
COHIAIE SSURAX X2 1,826,4% 1,538,252 288,244




SA FUS
M Lol=X =X
CHel: SE SHEXR (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 1,826,4% 1,538,252 288,244
02 At2l2&H ==ol . KIZTH&) 1,826,4%6 1,638,252 288,244
O=oIEIIQe) el
,359,000& x 1128123 1,826,4%
M= QISXIAIE 29 I 228,619 216,560 12,059
307 212+01™ 228,619 216,560 12,059
10 MEISXAIEHE 2X 210,379 198,320 12,059
OMIt=I= XA el
210,378, 1403 10 2= 210,379
11 Al SXIAIEE 18,240 18,240 0
OMIH=IXI & A
18,240,000 * 100 2~ 18,240
e eJAd &X 12,888 0 12,888
= 6,444
& 4,511
= 1,933
402 QI”F X201 & 12,888 0 12,888
= 6,444
< 4,511
[Ea 1,933
02 QI TH2AILEE (01X THE) 12,888 0 12,888
OFIQII2 SIIAE EX
12,888,000 12,888
= 6,444
== 4,511
[Ea 1,933
MANXMLQISXEH S 29 10,000 10,000
307 glztol & 10,000 10,000
05 2IMRIE =3 10,000 10,000
OUNIEHLSIHE 29
10,000,000 * 10 2= 10,000
NS LolRef 160,000 165,000 /5,000
307 @201 & 160,000 165,000 /5,000
05 git?(& = 160,000 165,000 25,000
OTZ SIS 2AAIE 23|
160,000,000 * 14 2 160,000
SHEQ d=L=2 6,000 6,000 0
301 LEIE NS 6,000 6,000
02 A2 2EH 263 (F INEIVEED) 6,000 6,000
OSHLEQl =L (Ll S)X
& 500,000« 12+ 104 & 6,000
LOI=EXAE X3 4,695,327 4,263,648 431,679
= 362,331
= 318,994




M Zol=x
M Lol=X =X
el =eIsXAE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 3,974,002
= 50,000
colg X& 343,400 330,650 12,750
307 glztol & 338,700 330,650 8,050
10 Al SXAEEHE 22X 311,100 304,050 7,050
O3y S &34l N& 213,600
NS 500,000« 1H*12& 6,000
-5 - H0g 2%
200, 0002572128 16.800
S BLoIE ASRE
200,000& x7H~12& 16,800
-Otsis 50,0002 x200H * 123 174,000
Olgt=0ls MMZTX 2l =Y
97,500,000 *1IH £ 97,500
11 ABI =S XA X 27,600 26,600 1,000
OLQNAZMES N (Fa2l)
5,000,000& 5,000
OF2Y Y DS(HYRET MDE)
2,300,000& *23] 4,600
OL0oItis =&l 12,000,000 * 10 2 12,000
O2%03tu0l 28 XI#
2,000,000 *37H 2= 6,000
402 QI”FX+=201 & 4,700 4,700
01 QI X2 AL E A (KEHITHR) 4,700 4,700
OZRE & el wH 4,700,000& 4,700
COISHAR A& 36,000 22,000 14,000
307 gl2to| & 36,000 22,000 14,000
11 AMEISXAEEXS 36,000 22,000 14,000
O0Hole JIE8A! &AL X1
10,000,000& 10,000
Oklolg J1E4] A XA
10,000,000& 10,000
OLoM=Ua Hal & =8 X2
13,000,000 13,000
OLQXRASAMU=N A XA
3,000,000& 3,000
tist=Qlsl AIR= 22X 33,455 31,621 1,834
& 6,691
= 26,764
307 glztol & 33,455 31,621 1,834
= 6,691
o 26,764
10 Al SXAAEEHE 22X 33,455 31,621 1,834
Olgt=0ls] MMT X2l 2SH|
33,455,000 33,455




SA FUS
Hm: Lol=X|SX
el =eISXAIE X3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 6,691
s 26,764
colglzs 2SN 18,200 18,200
307 el2to| & 18,200 18,200
10 Al SXAAEEHE 22X 18,200 18,200
Ok0olzlzs gl 18,200,000& 18,200
CoI=AE AE2E 906, 181 901,920 4,261
307 @12t0| & 906, 181 868,120 38,061
05 git?(& = 906, 181 868,120 38,061
Ool=sX2 A==
906, 181,000 * 104 2~ 906, 181
o=k JIsEd 12,300 0 12,300
401 Al HIZL 2048 12,300 12,300
01 Al&H| 12,300 12,300
OolsA2 JIs2Z (1 £X)
12,300,000& * 14 12,300
LHAILIEE2E 354,000 348,000 6,000
307 @120l & 354,000 348,000 6,000
10 AlRISXAZEE 22X 354,000 348,000 6,000
OZFAILIZE =S
354,000,000 *1IH 2 364,000
Z2E K& AL 768,800 713,540 55,260
402 QIF X201 & 768,800 713,540 55,260
01 QI X2 AL E A (KEMITHE) 768,800 713,540 55,260
OZ=zd ulx 320,000,000 320,000
o3dzg 2= 245,300,000 245,300
OZzg JIsEH 95,000,000& 95,000
OZ2g tidXn&E3t
108,500,000 108,500
F2Y o €N 2 X X~ 120,000 0 120,000
402 QI+ X201 & 120,000 120,000
01 BIIX2AIZ 2 X (KT 120,000 120,000
OF2Y Y&l X L oIX X2
1,200,000 * 10000 2 120,000
LOIOIHAIE JISEZ(ZEY) 27,000 0 27,000
s 27,000
402 QI”F X201 & 27,000 0 27,000
= 27,000
02 BIINEASEX(0IETHR) 27,000 0 27,000
Odd Ws3=2€ 7,000,000 7,000
< 7,000
O=2Y sl B2E 20,000,000& 20,000
== 20,000




SN E0I=X Dt
RS L NESES)
el =eIsXAE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
dzgald 697,99% 688,436 9,559
201 er23 | 20,650 20,650 0
01 At2teltl 20,650 20,650 0
O32g A (2=)X&
35,0002 x2950H A *23 20,650
307 @12to| & 677,345 644,965 32,380
06 28= 33,335 33,335 0
0Z2Y 222 It
113,000 %2950H 2 33,335
10 AlRISTIAIEEE 22X 644,010 611,630 32,380
OoZzg=2gHl N 513,300,000 513,300
OZ=z¢ 2tadl N3 105,850,000 105,850
OJIE& lISssd=zg 29 A&
16,900,000& 16,900
O = IISSZ2E 22 N
7,960,000 7,960
LOIHMRIR(ZRY 22| XI) 124,640 114,278 10,362
= 62,320
< 18,696
[Ea 43,624
301 2eEN= 124,640 114,278 10,362
= 62,320
=S 18,696
s 43,624
01 Al EE AL S(FRDEXHA) 124,640 114,278 10,362
OZ2¢ 2=4l X# 124,640,000 124,640
= 62,320
= 18,696
o 43,624
COIGAMXI(Z2Y Hited] X&) 630,021 417,570 212,451
= 290,011
= 87,003
[Ea 203,007
= 50,000
307 glztol & 630,021 417,570 212,451
= 290,011
== 87,003
[Ea 203,007
= 50,000
10 AlISXAEEHE 22X 630,021 417,570 212,451
OZ=d 4l Xa 630,021,000 630,021
= 290,011
= 87,003
= 203,007




2A:
T ZH -
o e

=aak

SA - BE - SRA(SIH) - IRAY -

By

Ofl &F2H

HE
0l &y

m

50,000

0 —

SEXII0IAL

M

165,000
49,500
115,500

182,400

A17,400

307 212t01&

A H

165,000
49,500
115,500

182,400

217,400

11 AR ZXAIE 2=
0

OZ=2< X210 At

165,000,000

M H

165,000
165,000

49,500
115,500

182,400

A17,400

M

25,590
4,085
21,505

26,392

A802

MO

20,650
3,097
17,553

20,650

20,650,000

M H

20,650

20,650
3,097
17,553

20,650

307 212+01™

M

4,940
988
3,952

5,742

A802

4,940,000

MO

4,940
4,940

988
3,952

5,742

AB02

M H

38,049
7,610
30,439

37,007

1,042

307 212t01™

UMY

38,049
7,610
30,439

37,007

1,042

M

38,049

38,049
7,610
30,439

37,007

1,042

X
H
0q
2
S
MO
ol
U
=
pal
o
=
1%

M H

3%4,6%
118,409
276,287

382,204

12,492




SA: FoI=X D
. Lo=s1sd
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 394,696 382,204 12,492
= 118,409
= 276,287
11 AMEISXAIEEXS 3%4,69%6 382,204 12,492
Od2g Kotzat ZA A3A
394,696,000 394,696
=S 118,409
s 216,287
FR2se e 397,310 382,564 14,746
SEINE2E 80,150 69,525 10,625
101 @124H| 53,451 44,404 9,047
M ORINZZ2NSE S 53,451 44,404 9,047
OSER ANE2g2el2x 53,451
-ANEEF 2B X
105, 7003310 +1 32,767
AR YRRIRE AH2EE S
32,767,000 *10% 3,277
HES U BATY 0P
78,8802 x302 x4 9,466
SJIENZ22 X EXZ
7,940,380 *1H 7,941
201 ger=3| 10,699 10,751 AB2
01 At 2|l 7,498 4,970 2,528
OZ&E2X J12etz 0AHA4=2R 231
1,100,000 #22] 2,200
OSEEX AISII2t 22 =2 M
100,000 *3H 300
O3L€EA XgII8F 2
2,300 27504 633
OS4EA B9 =2 88| Ul
1,800,000 *14] 1,800
O=&€EX HII= XMyl
427 500 ~6E 2,565
02 S3=4gl 3,201 5,781 2,580
O34 I 22/AL A=:2Xd|
4,4012%219.92m’ 968
OSEEX 22A &IIes 1,128
= 6, 1603 » 15kw+ 12 1,109
-0iSZ(6-828) 120. 73 *15knh*3E 6
-=,712E (35,9102 76. 72 *15knh*5E 6
-HESE(1128) 108.43 »15kwh*4Z 7
OSERX Ad duted| At
1,375&3 % 10H*280 4 385
OgMPII A= 1,600 %200 £ 320
O34€EA W=JIS =Xl
100,000 *4CH 400




SA FUS
Hm: Lol=X|SX
thel: H¥EEske JHM (SH9 H2)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
206 M=l 4,000 4,370 A370
01 =8l 4,000 4,370 2370
OBLIAU ZENHE ST
20,0002 * 100323 4,000
802 Btet=JIEt 12,000 10,000 2,000
03 JIEtEtES S 12,000 10,000 2,000
SETAAE SZolAl erets
100,000& %120 12,000
=294 29 90,620 103,778 13,158
101 @124H| 57,562 57,786 N224
M ORIMZZ2NSE S 57,562 57,786 N224
O=294% 2| & 4
78,8803 x2ZH+310 48,906
O4tiEss = 48,905,600 *10% 4,891
OJIZtMZ22Tt &&=
1,882,420 x2H 3,765
201 2Bt ] 33,058 27,992 5,066
01 AFR2telHl 13,122 4,966 8,156
Oggt=3ZH| 1,300,000 14| 1,300
O&=II1gxt= 37,7102 «20H~ 122 906
O3JIEE)| gitg
45,0002 *1CH* 12 540
O\ FIEINI: 500,000 1CH 500
Oogg+r+= 135,000& «12& 1,620
ORQUBHIAIAE 2|
110,000& * 122 1,320
OsZdlltd 2|l =5
160,000 122 1,920
OSEaEA 2aHelAlgdzel
418,000« 1 A+ 12 5,016
2 s5=34l 19,936 23,026 A3,090
Od== Al 3,867 %1,514.74m’ 5,858
OdJIR3 12,439
= 9,657 *100kw+ 12& 11,589
28 1,2202 x58=12& 850
Oodte 2| 70,0002 = 10CH 700
OSEFANE dot=k =
50,0002 122 600
Oggs =iz 13,2002« 104 12& 159
OsZIIdAM= 180,000& %12 180
SENHEX 2¢ 126,540 109,261 17,279
101 @124H| 99,013 81,111 17,902
MU IIRIMZZENSES 99,013 81,111 17,902
OSENSATA ANE2g2e|2L 99,013




SA FUS
M Lol=X =X
thel: H¥EEske JHM (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HIEN U #FFY 22
78,8802 x352 x4 11,044
-ANEEF X
105,700 #3102 2 65,534
-AE2d2e 22X AHEEE S
65,534,000 *10% 6,554
SJIENZ22X ER S
7,940,380 x2H 15,881
201 er2 3| 11,627 11,790 A163
01 AtR2t2|HI 5,1% 1,296 3,900
Ogegt+=EHI 810,000 810
O&F=D| Xz 33,0003~ 1CH* 122 3%
OS5aEA 2aHelAldel
332,500 122 3,990
2 s5=34l 6,431 10,494 A4,063
Od==AlHl 3,867&=200m’ 774
Oll=Jl & *F4I 1,600 %700 £ 1,120
Ofggs =iz 13,2002« 10412 159
OAlZ &I Xl 85,500& 255 2,138
OXE:XHI(28 2 |]4I)
2,240,000& 2,240
206 M=l 6,000 6,370 A370
01 M=4l 6,000 6,370 A370
F=2Ac|E HIE7Y 10,0003 *200% 2,000
ONz= & ol 2XE S 7
20,0002 2005 4,000
401 Al HIZ 2018 9,900 9,990 A0
01 Al&H| 9,900 9,990 A0
OXHE xF =2 3,300,000 *32] 9,900
s HeAs N2 100,000 100,000 0
301 LEN= 100,000 100,000 0
02 NBI2HHSFS(HAAS, XNLHE) 100,000 0 100,000
OstE&dd=s K& 100,000
-AHYTE stEEe =2 300,000 x250H 75,000
-HERE Edels
100,000 *250H 25,000




